Electronic Service
Manuals

®

This electronic document is provided as a service to our customers.
We do not create the contents of the information contained in this docu-
ment. Should you have detailed questions pertaining to the information
contained in this document, you may contact Michco, or the manufac-
turer which provided the original information in this electronic deliver-
able. Michco’s only partin this electronic deliverable was the electronic
assembly process. By providing this manual on line we are not guaran-
teeing parts availability.

You may contact Michco through the following methods:
Phone (517) 484-9312 or (800) 331-3339
2011 N. High St. -- Lansing, Michigan -- 48906
Fax: (517) 484-9836
Email: CustServe@Michco.com
Web site: www.Michco.Com
Parts Web site: www.FloorMachineParts.Com

Order Parts on Line at:
www.FloorMachineParts.Com

Directly to Parts & Service:
By Email: Shop@Michco.com
By Fax: (517) 702-2041
By Voice: Use numbers above.

Serving the Cleaning Industry Since 1922

Notice: All copyrighted material remains property of original owners, all trademarks are property of respective owners.
Manuals are subject to Manufacturer’s reproduction limitations. Originals or reproductions were provided by manufacturers
through a request. We make no warranty as to the correctness of information provided in this document and you assume
all risk. By placing these manuals on line we are not declaring our corporation to be an manufacturer authorized dealer or
provider, please check our web site for authorized manufacturers we represent.



Extractor
Tools

Operator's Manual and Part s List
MODELS: 59231A, 59228A, 59230A, 59229A

READ THIS BOOK

This book has important information for the use and safe operation of this machine. Failure to
read this book prior to operating or attempting any service or maintenance procedure to your
Clarke machine could result in injury to you or to other personnel; damage to the machine or to
other property could occur as well. ~ You must have training in the operation of this machine
before using it. If your operator(s) cannot read this manual, have it explained fully before at-

tempting to operate this machine.

All directions given in this book are as seen from the operator’s position at the rear of the machine.

Form No. 79042A 5/01



CONTENTS OF THIS BOOK

Operator Safety INSIIUCHIONS ......uuiiiiiiiiiiiii e r e e e e e e e e e e e e e s e e eenannnnnes 3
T oo (U Tt 1 o] o ISP PT PRI 4
How to Operate the 4" FIOOr TOOI ......ccccccuiiiiiiiiiieeiieee et r e e e e aaaeee s 4
How to Operate the 8" and 12" FIOOr TOOI .........uuuuiiiiiiiiiiiiiiiieeee e ee e 5
HOW t0 Clean the CarPel ......ccoiiii i r e e e e e e e aaaaeaes 6
IMEINTENANCE ...ttt et e e et e st e e et e e e s e e e s n e e nn e e nnnes 7
4" Plastic Hand Tool Assembly Drawing and Parts LiSt ...........ccooovvcciiiiiiiiiiiiiiineecceeeeeeen 8
4" Metal Hand Tool Assembly Drawing & Parts LiSt ........c.cccooviiiiiiiiicciiiiiiiieiieeee e 9
8" Plastic Wand Assembly Drawing & Parts LiSt..........cccociiiiiiiiiiiiiiiiiriirceeeeeee e 10
12" Metal Wand Assembly Drawing & Parts LISt .........cccvvveeeeeiiiiiiiiiiciiieeeeee e 11

2 - FORM NO. 79042A CLARKE Extractor Tools Operator's Manual



OPERATOR SAFETY INSTRUCTIONS

A\ WARNING A\ AVERTISSEMENT A\ ADVERTENCIA

For the safe operation of these tools, read and understand all warnings and cautions.

A DANGER means: Severe bodily injury or death can occur to you or other personnel if
the DANGER statements found on your machine or in your Owner's
Manual are ignored or are not adhered to. Read and observe all
DANGER statements found in your Owner's Manual and on your
machine.

A WARNING means: Injury can occur to you or to other personnel if the WARNING
statements found on your machine or in your Owner's Manual are
ignored or are not adhered to. Read and observe all WARNING
statements found in your Owner's Manual and on your machine.

A CAUTION means: Damage can occur to the machine or to other property if the
CAUTION statements found on your machine or in your Owner's
Manual are ignored or not adhered to. Read and observe all
CAUTION statements found in your Owner's Manual and on
your machine.

A DANGER: Tools can cause an explosion when operated near flammable materials and vapors. Do not
use these tools with or near fuels, grain dust, solvents, thinners, or other flammable materials.

A WARNING:  You must have training in the operation of these tools before using them. READ THE
INSTRUCTION BOOKFIRST.

A WARNING: Do not use this tool as a step or furniture.

A WARNING:  Maintenance and repairs must be done by authorized personnel only.
A WARNING: Keep all fasteners tight. Keep the adjustments according to specifications.

A WARNING:  Make sure that all the labels, decals, warnings, cautions and instructions are fastened to the
tool. Replace them when necessary by ordering them from Clarke Technology.

A WARNING: Do not use water that is hotter than 140°F.

A NOTICE: Forsafety, READ and OBEY the INSTRUCTIONS given inthe Owner's Manual for the extractor
that is used with these tools.

CLARKE Extractor Tools Operator's Manual FORM NO. 79042A - 3



INTRODUCTION

The extractortools are tools for cleaning the carpet. When
used with an extractor, the tools apply cleaning solution
tothe carpet, and removes dirty solution and soil from the
carpet.

* Use the 4" metal and 4" plastic hand tools to clean
stairs and small areas of carpet. These tools clean a
path 3%z inches wide.

* Use the 8" plastic wand and 12" metal wand to clean
edgesofaroomandlargerareas of carpet. The 8"wand
cleansapath 8incheswide. The 12" wand cleans a path
12 inches wide.

* The extractor has controls to start the pump for the
solution and the motor for the vacuum. The floor tool
has a control to release the solution.

How To Operate The 4" Hand Tools

NOTE: Instructions for preparation and opera-
tion of your extractor are given with the
extractor.

A CAUTION: Clarke Technology will not be held
liable fordamageto the carpet, or poor
results because of operator's lack of
training.

To operate the 4" hand tools, follow this procedure:

1. Connectthe vacuum hose to the hose connector on
the extractor and to the end of the vacuum tube on
the floor tool.

2. Connect the solution hose to the extractor and the
floor tool. To fasten the quick-disconnect, slide the
knurled collar on the female coupling away from the
opening. Push the male coupling into the female
coupling.

3. The switch that activates the motor for the pump is
on the extractor. Put the switch in the "ON"
position.

4. The switch that activates the motor for the vacuum
is on the extractor. Put the switch in the "ON"
position.

5. Begin at the right-hand corner of the area to be
cleaned.

6. Press the solution release lever. Pull the tool
toward you at a slow steady speed.

4 - FORM NO. 79042A CLARKE Extractor Tools Operator's Manual




How To Operate The 8" and 12" Wands

NOTE: Instructions for preparation and op-
eration of your extractor are given
with the extractor.

A CAUTION: Clarke Technology will not be held
liable for damage to the carpet, or
poor results because of operator's
lack of training.

A CAUTION: Do not use water that is hotter
then 140°F.

To operate the 8" and 12" wands follow this procedure:

1. Connect the vacuum hose to the hose
connector on the extractor and to the end of
the vacuum tube on the floor.

2. Connect the solution hose to the extractor and
the floor tool. To fasten the quick-disconnect
slide the knurled collar on the female coupling
away from the opening. Push the male
coupling into the female coupling.

3. The switch that activates the motor for the
pump is on the extractor. Put the switch in
the "ON" position.

4. The switch that activates the motor for the
vacuum is on the extractor. Put the switch in
the "ON" position.

5. Move the floor tool to the right-hand corner of
the carpet.

6. Hold the floor tool at an angel that gives the

best seal between the tool to increase the

seal.

Press down on the tool to increase the seal.

Press the solution release lever.

9. Move backwards and pull the tool toward you
at a rate of about 30 feet per minute. Move
slower for very dirty areas.

10. Release the solution lever approximately six
inches before you stop moving backward.

11. Lift the wand and move it to the side of the
starting point.

12. To clean the edge of a room, move the wand
alongthe baseboard.

© N

CLARKE Extractor Tools Operator's Manual FORM NO. 79042A - 5



How To Clean The Carpet

A WARNING:  Whenusingthetools andthe extrac-
tor to clean, make sure this proce-
dure is followed.

1. Donotwalkonfreshly cleaned carpetforatleastfour
hours or until the carpet is dry to the touch.

2. Do notremove aluminum or plastic pieces that have
been placed under the legs of the furniture until the
carpet is dry.

3. Do notallow children or pets to crawl or walk around
on the damp carpet.

How To Clean A Small Area Of Carpet

To clean a small area of carpet, follow this procedure:
1. Cleanthecarpetinsections ofthree feetsquare.

2. Asyoumake apass, repeat one inch of the area
already cleaned.

3. Toremove more liquid from the carpet, make
passes over the area already cleaned. Do not
press the solution lever.

How To Clean A Large Area Of Carpet

To clean a large area of carpet follow this procedure:
1. Begin atthe right-hand corner of the carpet.

2. Make a pass halfway along the edge of the
carpet. Pull the tool back at a steady speed.

3. Move to the edge of the carpet. Make another
pass next to your first pass.

4. Asyoumake more passes, repeatone inch ofthe
area already cleaned. Make each pass four
inches differentinlength to prevent making aline
in the center of the carpet.

5. Make more passes until half of the carpet is
cleaned.

6. Move to the right-hand corner of the part of the
carpet not yet to be cleaned.

7. Make a pass halfway along the edge of the
carpet.

8. Asyoumake more passes, repeatoneinch ofthe
areaalready cleaned.

9. Make more passes untilall oftheroomis cleaned.

6 - FORM NO. 79042A CLARKE Extractor Tools Operator's Manual



| MAINTENANCE |

After each use of the tools, do the following:

1. Use clean water from the extractor to flush the
solution system of each of the tools.

2. Disconnect the solution hose and the vacuum
hose from the machine.

3. To drain the solution system, press the pin in the
male connector for the solution hose. Press the
solution release lever.

4. Check for objects in the vacuum opening. Use a
stick to remove any objects from the vacuum
opening.

5. Check for leaks at all connections.

6. Apply a small amount of silicone lubricant to the
quick-disconnect fittings. To prevent damage to
the O-rings, do not use an oil lubricant.

7. Check the spray jets on the floor tools. If a
spray jet is not working correctly, use this
procedure to clean the jet:

a. Remove the jet from the machine
and put it in a solution of ammonia and
water.

b. Blow compressed air through the jet and
install the jet on the tool.

A CAUTION: To prevent damage to the spray jet,
do not push a wire or any object
through the opening in the jet.

8. Use adry cloth to wipe the tool.

CLARKE Extractor Tools Operator's Manual FORM NO. 79042A - 7



CLARKE TECHNOLOGY 4" Plastic Hand Tool
Tool Asm. 11/97
59231A

12 13
Ref# | PartNo. | Description Oty.
1 55179A Plastic Head w/tube 1v2" 1
2 59618A Vavle Assembly, Plastic 1
3 55181A VS Valve Hanger 1%2" 2
4 85611A Screw, S.S. Pan Hd 10-32 x 14" 1
5 92022A Nut, S.S. Hex 10-32 1
6 54060A Tube Comp.,/s MPT x 316" Ferrule | 1
7 56123A Manifold 1
8 54177A Tee Jet, Plastic Orange 1
9 56508A | O-Ring, "/16" O.D. x 516" |.D. 1
10 57011A Retainer Plate 1
11 962802 Screw, 8-32 x ¥4" S.S. Fillister Hd. | 2
12 55180A Hose Assembly, Solution 1
13 737140 Quick Connector, /s FPT Male 1

8 - FORM NO. 79042A CLARKE Extractor Tools Operator's Manual



CLARKE TECHNOLOGY 4" Metal Hand Tool
Tool Asm. 11/97
59228A

11 12
Ref# | Part No. Description Oty.
1 55175A Head Assembly 1
2 59618A Valve Assembly, Plastic 1
3 54060A Tube Comp., /s MPT x 3/16" Ferrule 1
4 55181A VS Valve Hanger 12 2
5 | 85611A | Screw, S.S. Pan Hd 10-32 x 1%4" 1
6 | 92022A Nut, S.S. Hex 10-32 1
7 | 54177A | TeeJet 1
8 | 56507A | O-Ring, %/s0.D.x¥4l.D. 1
9 57011A Retainer Plate 1
10 | 962802 Screw, 8-32 x ¥4" Fillister Hd. 2
11 | 55180A Hose Assembly, Solution 1
12 | 737140 Quick Conn., /s FPT Male 1

CLARKE Extractor Tools Operator's Manual

FORM NO. 79042A -9



CLARKE TECHNOLOGY 8" Plastic Wand
Tool Asm. 4/99
59230A

10

NOTE: Oindicates a change has taken
place since last publication of this
manual.

Ref# | Part No. Description

Qty.
1 50383A0 | Head and Tube Assembly 1
2 59324A Upper Tube 1
3 59616A Valve Assembly, Plastic 1
4 | 722124 Elbow, 45° Street 1
5 30043A0C | Hose, Solution 38" 1
6 55177A Valve Hanger, 1%4" Cast Aluminum 2
7 | 85611A | Screw, Pn Hd 10-32x 1% S.S. 2
8 | 92022A Nut, S.S. Hex 10-32 2
9 | 30044A0 | Nozzle, ¥4 (2 x 80°) 1
10 | 80082AL | Washer, Plastic 1
11 | 80083A0 | Washer, Flat9/16 SS 1
12 | 58901A | Cable Tie, /16" Black 1
13 | 687501 Nipple, ¥ MPT x /s MPT Hex 1
14 | 737140 Quick Connector, /s FPT Male 1

10 - FORM NO. 79042A CLARKE Extractor Tools Operator's Manual



CLARKE TECHNOLOGY 12" Metal Wand
Tool Asm. 5/01
59229A

17

Ref# | PartNo. | Description

59890A Wand Assembly

59615A Valve Assembly

85307a Screw, S.S. Pan Hd 10-32 x 5/s"
920722 Nut, S.S. Nylock 10-32

55809a Lever Valve

85611A Screw, S.S. Pan Hd. 10-32 x 11/s"
722124 Elbow, 45° Street

697501 Nipple, ¥4 MPT x /s MPT Hex
737140 Quick Connector, Y/sFPT Male
54061A Tube Comp. Ferrule, %2 MPT x ¥4"
11 | 54174A Vee Jet, ¥a MPT Brass

12 | 54507A Grip, Vinyl 6" x 1%2" Dia.

13 | 54933A Handle Assembly

14 | 54934A Handle Back

15 | 962139 Bolt, S.S. ¥-20 x 5/s"

16 | 920208 Nut, S.S. Hex ¥4-20

174#| 30184A | Strainer, Spray Jet

SBoo~vwouhswNnek

I\)I\)I\)I—‘I—‘I—‘I\)I—‘I—‘I—‘I—‘I—‘I—‘I\)I—‘HI—‘g

CLARKE Extractor Tools Operator's Manual FORM NO. 79042A - 11



Clarke

14600 21st Avenue North
Plymouth, MN 55447-3408
www.clarkeus.com

Phone: 800-253-0367

Fax: 800-825-2753
©2010 Nilfisk-Advance, Inc.

A Nilfisk-Advance Brand


http://www.win2pdf.com

